Sequences 2
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Questions 1 and 2 contain sequences with three elements missing. Work out the pattern
and then draw the missing elements.
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The next two questions contain a sequence with two alternating patterns. One pattern is
missing from each sequence. Identify the missing pattern from the four options provided and
circle the letter beneath it.
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5 Continue the sequence by drawing the next three patterns in the sequence in the boxes
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The five boxes on the left show a pattern that is arranged in a sequence. Choose the answer
option that completes the sequence when inserted in the blank box. Circle the letter beneath
the correct answer. For example:
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Continue these two identical sequences in different ways. Draw the next two shapes in each

sequence in the boxes provided.
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